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Comprehension:

The following table shows the total number of students who are learning both Chess and Squash in four
different colleges, namely, A, B, C and D along with the difference between the number of students
learning Chess and Squash and also the percentage of students learning Carrom. Based on the data in
the table, answer the questions that follow :

College-wise details of students learning Chess, Squash and Carrom.

Total Number of Ditfamanlisvren Percentage of
A the Number Students
College | Students learning . Students
learning Chess and d
Chess and Squash learning Carrom
Squash
A 2100 300 30%
B 1170 30 35%
C 1260 140 40%
D 1800 400 25%
Note : (1)  Total number of students in a college = Number of Students learning Chess + Number

of Students learning Squash + Number of Students learning Carrom.
(2)  Every student in a college learns only one of the three games.

(3)  Number of students learning Chess is more than the number of students learning Squash
in each college.

SubQuestion No : 1

Q1 The number of students learning Carrom in college C is % less than the number of
students learning Chess in college A.
(1) 20
(2) 10
3) 25
4) 30
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 5127013
Option 11D : 5127015
Option 21D : 5127016
Option 31D : 5127017
Option 4 ID : 5127018

Status : Answered
Chosen Option : 2
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Not:

Comprehension:

College-wise details of students learning Chess, Squash and Carrom.

The following table shows the total number of students who are learning both Chess and Squash in four
different colleges, namely, A, B, C and D along with the difference between the number of students
learning Chess and Squash and also the percentage of students learning Carrom. Based on the data in
the table, answer the questions that follow :

Total Number of Difteetoe Uetween Percentage of
A the Number Students
College | Students learning . Students
learning Chess and i
Chess and Squash learning Carrom
Squash
A 2100 300 30%
B 1170 30 35%
[ 1260 140 40%
D 1800 400 25%
e: (1)  Total number of students in a college = Number of Students learning Chess + Number

of Students learning Squash + Number of Students learning Carrom.

(2)  Every student in a college learns only one of the three games.
(3)  Number of students learning Chess is more than the number of students learning Squash

in each college.

SubQuestion No : 2

(1) 560
(2) 840
(3) 610
(4) 500

Options 1. 1
2.2
3.3
4.4

Q.2 In College B, if the ratio of the number of boys to girls is 5 : 4 and 30% of the girls are learning
Carrom, then what is the number of boys learning Chess and Squash together ?
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

MCQ
5127012
5127011
5127012
5127013
5127014
Answered
2
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Q.3

(1)
(2
(3)
(4)
Options 1. 1
2.2
3.3
4.4

Comprehension:

College-wise details of students learning Chess, Squash and Carrom.

of Students learning Squash + Number of Students learning Carrom.

(2)  Every student in a college learns only one of the three games.
(3)  Number of students learning Chess is more than the number of students learning Squash

in each college.

SubQuestion No : 3

215

= W s
= W

The following table shows the total number of students who are learning both Chess and Squash in four
different colleges, namely, A, B, C and D along with the difference between the number of students
learning Chess and Squash and also the percentage of students learning Carrom. Based on the data in
the table, answer the questions that follow :

Total Number of Difteetoe Uetween Percentage of
A the Number Students
College | Students learning . Students
learning Chess and i
Chess and Squash learning Carrom
Squash
A 2100 300 30%
B 1170 30 35%
[ 1260 140 40%
D 1800 400 25%
Note : (1)  Total number of students in a college = Number of Students learning Chess + Number

What is the ratio of the number of students learning Chess in College A and B together to the
number of students leaming Carrom in College D ?
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

MCQ
5127016
51270117
51270118
51270119
51270120
Answered
1
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Q.4

(1)
(2
(3)
(4)
Options 1. 1
2.2
3.3
4.4

Comprehension:

College-wise details of students learning Chess, Squash and Carrom.

2
3)

3000
3600
3500
3240

Total Number of Difteetoe Uetween Percentage of
A the Number Students
College | Students learning loainiie Chess and Students
Chess and Squash Siuash learning Carrom
A 2100 300 30%
B 1170 30 35%
C 1260 140 40%
D 1800 400 25%
Note : (1)

The following table shows the total number of students who are learning both Chess and Squash in four
different colleges, namely, A, B, C and D along with the difference between the number of students
learning Chess and Squash and also the percentage of students learning Carrom. Based on the data in
the table, answer the questions that follow :

Total number of students in a college = Number of Students learning Chess + Number

of Students learning Squash + Number of Students learning Carrom.

Every student in a college learns only one of the three games.
Number of students learning Chess is more than the number of students learning Squash

in each college.

SubQuestion No : 4

What is the difference between the sum of the number of students in college B and College C
together, and the number of students learning Carrom in College A ?
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

MCQ
5127015
51270113
51270114
51270115
51270116
Answered
2



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal24

7

(1)
(2)
(3)
(4)
Options 1. 1
2.2
3.3
4.4

Comprehension:

College-wise details of students learning Chess, Squash and Carrom.

2
3)

2200
2004
1964
2444

of Students learning Squash + Number of Students learning Carrom.

Every student in a college learns only one of the three games.
Number of students learning Chess is more than the number of students learning Squash

in each college.

SubQuestion No : 5

The following table shows the total number of students who are learning both Chess and Squash in four
different colleges, namely, A, B, C and D along with the difference between the number of students
learning Chess and Squash and also the percentage of students learning Carrom. Based on the data in
the table, answer the questions that follow :

Total Number of Difteetoe Uetween Percentage of
A the Number Students
College | Students learning . Students
learning Chess and i
Chess and Squash learning Carrom
Squash
A 2100 300 30%
B 1170 30 35%
[ 1260 140 40%
D 1800 400 25%
Note : (1)  Total number of students in a college = Number of Students learning Chess + Number

Q5 [f the ratio of number of students learning Chess in College C to College E (Fifth college) is 7 : 9, the
number of students learning squash in college E is 20% more than that of College B, and the
number of students learning Carrom in College E is 30% less than that of College D, then what is
the total number of students in College E ?
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
5127014
5127019
51270110
51270111
51270112
Answered
3
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Q6 \atch List - T with List - I
List - I

|
(Population Mean (p) and N fo)
1 2
(&) =5, 2% =50
1 2
® w-dy L =52
1 2
© w=3y5 D% =58
Lo yus
(D) w=65 2% =!

M (A, (B)}-(I), (O)(I1), (D)-(IV)
(2) (A1), (B)-(1), (©-aV), (D)-O)

0]

(1)

(1)

(V)

List - I1

(Population Standard Deviation (o))

5

Choose the correct answer from the oplions given below :
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(3)  (A)LV), (B)~(LLL), (C)-(11), (D)-(1)
(4)  (A)-(Imm), (B)-(IV), (C)-(D), (D)-(IN)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270116
Option 11D : 51270157
Option 21D : 51270158
Option 31D : 51270159
Option 4 ID : 51270160
Status : Answered
Chosen Option: 1
Q.7 . : i . ,
The ‘Second media age” is characterised by the rise of :
(1) Print media
(2) Radio
(3) Television
(4) Interactive media
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270117
Option 11D : 51270161
Option 21D : 51270162
Option 31D : 51270163
Option 4 ID : 51270164
Status : Answered
Chosen Option : 4
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.8
@ Which among the following are contradictory propositions :
(A) All judges are lawyers
(B) Some judges are lawyers
(C) No lawyers are judges
(D) Some judges are not lawyers
(E) Some lawyers are not judges
Choose the correct answer from the options given below :
(1) (A)and (B) Only
(2) (A)and (O Only
(3) (©) and (E) Only
4) (A) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270129
Option 11D : 512701109
Option 21D : 512701110
Option 31D : 512701111
Option 41D : 512701112
Status : Answered
Chosen Option: 4
Q.9
Match List - I with List - I1.
List - 1 List - II
(Ancient University) (Well-known Student)
(A) Takshasila () Nagarjuna
(B) Nalanda () Gangesha Upadhyaya
(C) Mithila (IIl) Kumarajeeva
(D) Sharadapeeth (IV) Chanakya
Choose the correct answer from the options given below :
(1) (A1), (B)-(II), (O)~(I1), (D)-(IV)
(@ (A1, (B)-(D), (©)-IV), (D)-O)
(3) (A)-(II), (B)-(IV), (C)-(1), (D)-(L)
4)  (A)AIV), (B)-(D), (C)-(II), (D)~(11)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270146
Option 11D : 512701177
Option 2 ID : 512701178
Option 31D : 512701179
Option 41D : 512701180
Status : Answered
Chosen Option: 4
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Q.10 Radha tries different ways to explore the alternative methods of getting the average value of the
numbers as indicated in the worksheet below :
A B C D
1 12
2 5
3 10
4
Which of the following formulae A —E when entered in cell A4, would given an incorrect result ?
(A) AVERAGE (A1-C3)
(B) AVERAGE (Al : C3)
(C) SUM (Al :C3)+3
(D) SUM (A1 :C3)+9
(E) SUM (AL, B2, C3)+3
Choose the correct answer from the options given below :
(1) (B)and (C) Only
(2} (A) and (D) Only
(3)  (©) and (E) Only
(4)  (A), (B) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270135
Option 11D : 512701133
Option 2 ID : 512701134
Option 31D : 512701135
Option 4 ID : 512701136
Status : Answered
Chosen Option: 4
GRY . ; ;
Identify the correct chronological sequence of the following :
(A) Codex
(B) Television
(C) Radio
(D) Newspaper
(E) Technicolour Cinema
Choose the correct answer from the options given below :
(1) (©), (D) (E), (A). (B)
(2) (A), (D), (E), (Q), (B)
(3) (B), (B), (A), (D), (O)
4) (D), (©), (B), (E), (A)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270120
Option 11D : 51270173
Option 2 ID : 51270174
Option 31D : 51270175
Option 4 ID : 51270176
Status : Answered
Chosen Option : 1
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Q.12
Match List - I with List - I1.
List - 1 List - 11
(Description) (ICT Term)
(A) Name of an operating system (I Www
(B) Name of a CPU manufacturer (I} CPU
(C) Links web pages (III)  Android
(D) Brain of Computer (IV) Intel
Choose the correct answer from the options given below :
(1) (A)-I), (B)-(IV), (C)~(1D), (D)-(I)
(2) (A1), (B)-(1), (O)-(IV), (D)~(11)
(3)  (A)-(I), (B)-(IIL), (C)-(II), (D)-(IV)
(4) (A, (B)~(IV), (O)~(D), (D)-(IT)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270136
Option 11D : 512701137
Option 21D : 512701138
Option 31D : 512701139
Option 4 ID : 512701140
Status : Answered
Chosen Option : 4
Q13 Which of the following are the benefits of interactive technology-oriented media ?
(A) Master-Slave architecture
(B) Passive audience
(C) Enhancement of individualism
(D) Democratic decentralisation
(E) Permits creativity
Choose the correct answer from the options given below :
(1) (A),(B), (© Only
(2 (), (C), (D) Only
3 (©), (D), (E) Only
4) (A), (D), (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270119
Option 11D : 51270169
Option 21D : 51270170
Option 31D : 51270171
Option 4 ID : 51270172
Status : Answered
Chosen Option: 4
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Q.14
Identify the forms of social desirability bias :
(A) Obeserver drift
(B) Impression management
(C) Psychosocial effect
(D) Self-deception positivity
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (B) and (C) Only
(3) (C) and (D) Only
(4) (B) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270114
Option 11D : 51270149
Option 2 ID : 51270150
Option 31D : 51270151
Option 4 ID : 51270152
Status : Answered
Chosen Option : 1
Q.15 ! .
Prama, according to Nyaya, is :
(1] Smrt
(2) Samsaya
(3] Vi_kalp&
{4] Yathirtha
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270127
Option 11D : 512701101
Option 2 ID : 512701102
Option 31D : 512701103
Option 4 ID : 512701104
Status : Answered
Chosen Option: 3
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Q.16 Identify the correct chronological sequence of the establishment of the following universities :
(A) Osmania
(B) Patna
(C) Lucknow
(D)  Annamalai
(E) Rangoon
Choose the correct answer from the options given below :
(1) (A) (O (E), (B). (D)
(2) (D) (B), (A), (O (B)
(3 (©) (A) (B), (B), (D)
4@ (B), (A) (B), ©. (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270145
Option 11D : 512701173
Option 21D : 512701174
Option 31D : 512701175
Option 41D : 512701176
Status : Answered
Chosen Option : 2
Q.17 Which of the following can be part of bicaccumulation/biomagnification ?
(A) Pesticides
(B) Volatile Organic Compounds (VOCs)
(C) Soot
(D) Persistent Organic Pollutants (POPs)
Choose the correct answer from the options given below :
(1) (A)and (B) Only
(2)  (B) and (C) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270141
Option 11D : 512701157
Option 21D : 512701158
Option 31D : 512701159
Option 4 ID : 512701160
Status : Answered
Chosen Option: 4
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Q18 Which of the following protocols/Conventions are supplementary to the Convention on Bio
Diversity (CBD) ?

(A) Basel Convention

(B) Cartagena Protocol

(C) Kigali Agreement

(D) Nagoya Protocol

(E) Bali Summit

Choose the correct answer from the options given below :
(1) (A) and (E) Only

@  (B), (O) and (E) Only

(3) (8) and (D) Only

() (A), (C) and (D) Only

GET ITON
Google Play

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270137
Option 11D : 512701141
Option 2 ID : 512701142
Option 31D : 512701143
Option 4 ID : 512701144
Status : Answered
Chosen Option: 4
Q19 When 20% of a number (x) is added to another number (y), the number (y) incereases by 50%.
What is the respective ratio between the two numbers x and i ?
(1 2:3
(@ 3:5
(3) 5:2
(4) 5:3
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270124
Option 11D : 51270189
Option 2 ID : 51270190
Option 3 ID : 51270191
Option 4 ID : 51270192
Status : Answered
Chosen Option: 3
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Q20 (L)y; represents a number L in base-M number system, then identify the correct descending
order of the following numbers A-D when converted to decimal number system.
(A) (10110.11),

® (1102,
©) (325)
(D) (14.6)16
Choose the correct answer from the options given below :

(1) (©), (A) (B), (D)

(2 (@, (B). (D), (A
@) (A) (©), (D) B)
(4)  (B), (©) (A) (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270132
Option 11D : 512701121
Option 2 ID : 512701122
Option 31D : 512701123
Option 4 ID : 512701124
Status : Answered
Chosen Option : 3
Q.21

Which university among the following decided to start post-graduate teaching in 1916 ?
(1) Calcutta University

(2) Andhra University

(3) Himachal University

(4)  Delhi University

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 51270142
Option 11D : 512701161
Option 2 ID : 512701162
Option 31D : 512701163
Option 4 ID : 512701164

Status : Answered
Chosen Option : 4
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(&)
(B)
(©
(D)

)
@
()

Infra red rays
Visible rays
Gamma rays

Ultraviolet rays

Choose the correct answer from the options given below :

(©). (D), (B), (A)
©) (©), (B), (A)
D), (), (A), (B)

Q.22 What is the correct sequence, from minimum to maximum flux of following components of
electromagnetic radiation in solar radiation reaching earth ?

GET ITON
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4)  (©, (D), (A) B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270138
Option 11D : 512701145
Option 2 ID : 512701146
Option 31D : 512701147
Option 41D : 512701148
Status : Answered
Chosen Option: 1
Q.23 : : . :
In the Laissez-faire relationship, the students are more
(1) Co-operative
(2) Competitive
(3) Authoritative
(4) Passive
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5127018
Option 11D : 51270125
Option 2 ID : 51270126
Option 31D : 51270127
Option 4 ID : 51270128
Status : Answered
Chosen Option: 3
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when interest is compounded quarterly.
(1) 7 24500
() % 25000
(G) T 25600
(4) T 26000

Options 1. 1
2.2
3.3
4.4

Q24 gy the sum of money which will amount to 326010 in 6 months at the rate of 8% per annum
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
51270125
51270193
51270194
51270195
51270196
Answered
1

1884 ?

(A) Dacca

(B) Calcutta

(C) Bombay

(D) Madras

(E) Mysore

Choose the correct answer from the options given below :
(™ (A) (B), (©) Only
(2  (B), (O (D) Only
(3 (©) (D) (B) Only
4)  (A) (D), (E) Only
Options 1. 1

2.2

3.3

4.4

Q.25 Which of the following universities were empowered to confer the honorary degree of LLO in

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
51270144
512701169
512701170
512701171
512701172
Answered
4
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(1)

@

(3)

(4)

Options 1. 1
2.2

3.3

4.4

Q.26 In digital communication, a Television broadcast and a Radio broadcast are examples of
type of transmission.

automatic
half-duplex
simplex
full-duplex

GET ITON
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Question Type : MCQ
Question ID : 51270133
Option 11D : 512701125
Option 21D : 512701126
Option 31D : 512701127
Option 4 ID : 512701128

Status : Answered

Chosen Option: 1

(1
(2
3)
()
Options 1. 1
2.2
3.3
4.4

Inch
Mbps
Pixel
Hertz

Q27 1y measurement for screen resolution for a Laptop is 1280 x 1024. Which of the following is the
unit used to measure screen resolution ?

Question Type : MCQ
Question ID : 51270134
Option 11D : 512701129
Option 21D : 512701130
Option 31D : 512701131
Option 4 ID : 512701132

Status : Answered

Chosen Option : 3
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Chosen Option :

Q.28 Identify the correct ascending order of the elements of Inquiry Training Model ?
(A) Syntax
(B) Support System
(C) Focus
(D) Principles of Reaction
(E) Social System
Choose the correct answer from the options given below :
(1) (D) (B), (A), (E), (C)
@ (A, (O, D), (E), (B)
@) (©), (A), E), (D) (B)
@) (E), (A) ©), (B), (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5127019
Option 11D : 51270129
Option 21D : 51270130
Option 31D : 51270131
Option 4 ID : 51270132
Status : Answered
Chosen Option: 3
Q.29 Of the new universities set up between 1920 and 1930 in India, a purely affiliating university was :
(1) Nagpur
(2) Lucknow
(3) Patna
(4) Rangoon
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270143
Option 11D : 512701165
Option 21D : 512701166
Option 31D : 512701167
Option 41D : 512701168
Status : Answered

1
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Q.30 Arrange the following in correct order of their appearance in the APA style of writing a book
reference :

(A) Year of publication

(B) Last name of author

(C) Name of publishing company

(D) Title of the book

Choose the correct answer from the options given below :

1) (@A), B) (©) (D)

GET ITON
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(2 (B). (D) (©), (A)
(3 (A Q. (B). (D)
(4)  (B), (A), (D), ©)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270115
Option 11D : 51270153
Option 2 ID : 51270154
Option 31D : 51270155
Option 4 ID : 51270156
Status : Answered
Chosen Option : 4
@31 Which of the following are true about Synthetic Organic Chemicals (SOCs) ?
(A) They can contaminate the drinking water.
(B) They can be originated from pesticides.
(C) Many consumer products such as plastic etc. use SOCs.
(D) Geological formations may also release SOCs.
(E) Insecticides and herbicides also produce SOCs.
Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only
(2 (A), (B), (C) and (E) Only
() (A), (B), (D) and (E) Only
(4) (C), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270139
Option 11D : 512701149
Option 2 1D : 512701150
Option 31D : 512701151
Option 4 ID : 512701152
Status : Answered
Chosen Option: 4



https://applink.adda247.com/d/XhqWf9lSap

Ad

In

dal247

a certain coded language :

“CHAIR” is coded as : 61621836

“TABLE" is coded as : 40242410

“STOQOL” is coded as : 3840303024

How “"SOFASET" shall be coded in that language ?

GET ITON
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(1) 362810236840
(2) 3830123281400
(3) 3830122381040
(4) 362810328640
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270123
Option 11D : 51270185
Option 21D : 51270186
Option 31D : 51270187
Option 4 1D : 51270188
Status : Answered
Chosen Option: 3
Q33 study that involves manipulation and control of independent variables to assess if they cause a
change in the dependent variable, relates to :
(1) experimental research
(2) longitudinal research
(3) archival research
(4) case study
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270113
Option 11D : 51270145
Option 2 ID : 51270146
Option 31D : 51270147
Option 4 ID : 51270148
Status : Answered
Chosen Option: 1
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Identify the figure in the following
“All artists are egoists

Some artists are paupers

Therefore, some paupers are egoists”.

GET ITON
Google Play

Codes :
(1) I figure
(2) 1" figure
(3) I figure
(4) IVh figure
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270131
Option 11D : 512701117
Option 21D : 512701118
Option 31D : 512701119
Option 4 ID : 512701120
Status : Answered
Chosen Option : 2
Q35 Eing the number that can replace the question mark (?) in the series given below :
3,6,24,30,63,72,7,132
(1) 120
(2) 135
3 92
(4) 98
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270122
Option 11D : 51270181
Option 2 1D : 51270182
Option 31D : 51270183
Option 4 ID : 51270184
Status : Answered
Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal247

GET ITON
Google Play

Q.36 Which one of the following has been considered as a non-specialist media thinker ?
(1) Manuel Castells
(2) Marshal McLuhan
(3) Wilbur Schramm
(4) George Gerbner
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270118
Option 11D : 51270165
Option 2 ID : 51270166
Option 31D : 51270167
Option 4 ID : 51270168
Status : Answered
Chosen Option: 4
.37
%*7" Match List - I with List - IL.
List - I List - I
(Concept) (Area)
(A) Transformational appeal  (I)  Political communication
(B) Proxemics (If) A rhetorical technique
(C) Electronic town hall (II) Advertising
(D) Anti-Climax (IV) Study of interactive space
Choose the correct answer from the options given below :
(1) (A)-D, (BR-(ID), (O)~(II), (D)-(1V)
@ (AHW, B)-), C)-IV), (O)-0
(3)  (A)-(IL), (B)-(IV), (CO)-(1), (D)-(I)
(@) (A)-IV), (B)AD), (C)-(II), (D)-(II)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270121
Option 11D : 51270177
Option 21D : 51270178
Option 31D : 51270179
Option 4 1D : 51270180
Status : Answered
Chosen Option: 1
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(B)
©

A

D)
Choose the correct answer from the options given below :

Q.38 \fatch List - T with List - 1L

List - I
(Software/T ool)
Kahoot!

Padlet

Labster
Turnitin

@
4y
()
)

List - 11

(Used for)

Online collaborative space/virtual wall to share the content
Virtual Science lab

Content Plagiarism Checker

Quizzes and real time assessment

GET ITON
Google Play

(M (A, (B)-(1), (©)-0), (D)-(1V)
(2) (A, (BHIV), (©)-(1D), (D)-(1)
(3)  (AHIV), (B)-(I), (C)-(I), (D)-(IIE)
@) (A, (By(I), (O)-IID), (D)-(IV)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270111
Option 11D : 51270137
Option 2 1D : 51270138
Option 31D : 51270139
Option 4 ID : 51270140
Status : Answered
Chosen Option : 4
Q-39 The idea that thinking is located in social and physical concepts, not within an individual's mind
is known as :
(1) Schema
(2) Cognitive Bias
(3) Situated Cognition
(4) Confirmation Bias
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 5127017
Option 11D : 51270121
Option 2 ID : 51270122
Option 31D : 51270123
Option 4 ID : 51270124
Status : Answered
Chosen Option: 3
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Which of the following are the strategies of cooperative learning ?

GET ITON
Google Play

(A) Corners
(B) Fishbowl
(C) Team word webbing
(D) Round Robin Brainstorming
Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D)
(2) (B) and (D) only
(3) (A) and (C) only
4) (A), (C) and (D) only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270110
Option 11D : 51270133
Option 2 ID : 51270134
Option 31D : 51270135
Option 4 ID : 51270136
Status : Answered
Chosen Option : 4
Q4 “Because every part of a certain machine is light in weight, the machine as a whole is light in
weight” commits fallacy of :
(1) Composition
(2) Division
(3) Accent
(4)  Amphiboly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270130
Option 11D : 512701113
Option 21D : 512701114
Option 31D : 512701115
Option 41D : 512701116
Status : Answered
Chosen Option: 1
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GET ITON
Google Play

Q.42 Which of the following is a key ingredient in the formation of photochemical smog ?
(1) Carbon dioxide (CO,)
(2) Carbon monoxide (CO)
(3) Nitrogen oxides (NO,)
(4)  Sulphur oxides (SO, )
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270140
Option 11D : 512701153
Option 2 ID : 512701154
Option 31D : 512701155
Option 4 ID : 512701156
Status : Answered
Chosen Option : 3
Q.43 Which of the following advocates the application of the methods of natural sciences to the study of
social reality and beyond ?
(1)  Interpretivism
(2) Positivism
(3) Postmodernism
(4) Constructionism
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270112
Option 11D : 51270141
Option 2 ID : 51270142
Option 31D : 51270143
Option 4 1D : 51270144
Status : Answered
Chosen Option : 2
Q44 1,6 Girls Meena and Reena are ranked 7% and 11%, respectively from the top in a class of 41
students. What are their respective ranks from the bottom in the class ?
(1 36,32
(2] 85,33
(3) 33,35
(4) 35 31
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270126
Option 11D : 51270197
Option 2 ID : 51270198
Option 31D : 51270199
Option 4 1D : 512701100
Status : Answered
Chosen Option : 4
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(L)
@)
(3)
(4)

Logicians are primarily interested in :

Emotive language
Poetic language
Informative language
Directive language

GET ITON
Google Play

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270128
Option 11D : 512701105
Option 2 ID : 512701106
Option 31D : 512701107
Option 41D : 512701108
Status : Answered
Chosen Option : 1
Comprehension:
Read the following passage and answer the questions that follow :
Diagnostic evaluation is conducted along with formative evaluation during the instructional process.
It is carried out based on the data obtained from formative evaluation. Diagnostic evaluation is specially
conducted to identify and remove the learning difficulties of learner if it is observed and found during
the formative evaluation. For example, if a learner couldn’t understand certain concepts in a particular
subject and CDnti.nuDusly PEl'fl:II]IlS le:)rly in that subject, we conduct diagnnstic test to know the causes
of the difficulties and accordingly provide them remedial treatment to overcome the difficulties. The key
word in diagnostic evaluation is identifying of ‘learning difficulities”. Diagnostic evaluation not only
solves learning difficulties of learners but also identifies and provides remedies for personal, physical
and psychological problems. This can be exemplified as sometime you may find that few students in
your class are very nervous to come forward and say something, showing fear towards the friends and
teachers because of certain psycho-social disorders and physical disorders.
SubQuestion No : 46
Q.46 ‘ i 3 §
Diagnostic evaluation is conducted :
(I) Randomly
(2)  After the instruction process is over
(3) Along with formative evaluation during the instructional process
(4) Before the instruction process begins
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270150
Option 11D : 512701189
Option 2 ID : 512701190
Option 31D : 512701191
Option 41D : 512701192
Status : Answered
Chosen Option: 3
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Options 1. 1
2.2
3.3
4.4

Comprehension:

Read the following passage and answer the questions that follow :

Diagnostic evaluation is conducted along with formative evaluation during the instructional process.
It is carried out based on the data obtained from formative evaluation. Diagnostic evaluation is specially
conducted to identify and remove the learning difficulties of learner if it is observed and found during
the formative evaluation. For example, if a learner couldn’t understand certain concepts in a particular
subject and continuously performs poorly in that subject, we conduct diagnostic test to know the causes
of the difficulties and accordingly provide them remedial treatment to overcome the difficulties. The key
word in diagnostic evaluation is identifying of ‘learning difficulities”. Diagnostic evaluation not only
solves learning difficulties of learners but also identifies and provides remedies for personal, physical
and psychological problems. This can be exemplified as sometime you may find that few students in
your class are very nervous to come forward and say something, showing fear towards the friends and
teachers because of certain psycho-social disorders and physical disorders.

SubQuestion No : 47

Q.47 i 5 Jearner repeatedly performs poorly in a subject then :
(1)  The learner is told to drop the subject.
(2) The learner is told that he/she is suffering from physical disorders.
(3) The learner is told that he/she is suffering from certain psycho-social disorder.

(4) A diagnostic test is conducted to identify the causes of the difficulties and accordingly provide
remedial treatment.

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
51270152
512701197
512701198
512701199
512701200
Answered
4
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Comprehension:

Read the following passage and answer the questions that follow :

Diagnostic evaluation is conducted along with formative evaluation during the instructional process.
It is carried out based on the data obtained from formative evaluation. Diagnostic evaluation is specially
conducted to identify and remove the learning difficulties of learner if it is observed and found during
the formative evaluation. For example, if a learner couldn’t understand certain concepts in a particular
subject and continuously performs poorly in that subject, we conduct diagnostic test to know the causes
of the difficulties and accordingly provide them remedial treatment to overcome the difficulties. The key
word in diagnostic evaluation is identifying of ‘learning difficulities”. Diagnostic evaluation not only
solves learning difficulties of learners but also identifies and provides remedies for personal, physical
and psychological problems. This can be exemplified as sometime you may find that few students in
your class are very nervous to come forward and say something, showing fear towards the friends and

teachers because of certain psycho-social disorders and physical disorders.

SubQuestion No : 48

Q.48
Select a suitable title for the given passage.
(1) Formative Evaluation
(2) The Instruction Process
(3) Diagnostic Evaluation
(4) Remedial Instruction
Options 1. 1
2.2
3.3
4.4

GET IT ON
Google Play

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
51270148
512701181
512701182
512701183
512701184
Answered
3
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Comprehension:

Read the following passage and answer the questions that follow :

Diagnostic evaluation is conducted along with formative evaluation during the instructional process.
It is carried out based on the data obtained from formative evaluation. Diagnostic evaluation is specially
conducted to identify and remove the learning difficulties of learner if it is observed and found during
the formative evaluation. For example, if a learner couldn’t understand certain concepts in a particular
subject and continuously performs poorly in that subject, we conduct diagnostic test to know the causes
of the difficulties and accordingly provide them remedial treatment to overcome the difficulties. The key
word in diagnostic evaluation is identifying of ‘learning difficulities”. Diagnostic evaluation not only
solves learning difficulties of learners but also identifies and provides remedies for personal, physical
and psychological problems. This can be exemplified as sometime you may find that few students in
your class are very nervous to come forward and say something, showing fear towards the friends and
teachers because of certain psycho-social disorders and physical disorders.

SubQuestion No : 49

GET IT ON
Google Play

Q49 1 siudents are nervous to come forward and say something or show a fear towards the friends
¥ 8
and teachers it means that :
(1) They are slow learners.
(2) They are suffering curtains psycho-social disorders and physical disorders.
(3) They are arrogant.
(4) They are stupid.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270151
Option 11D : 512701193
Option 2 ID : 512701194
Option 31D : 512701195
Option 4 ID : 512701196
Status : Answered
Chosen Option : 2
Comprehension:
Read the following passage and answer the questions that follow :
Diagnostic evaluation is conducted along with formative evaluation during the instructional process.
It is carried out based on the data obtained from formative evaluation. Diagnostic evaluation is specially
conducted to identify and remove the learning difficulties of learner if it is observed and found during
the formative evaluation. For example, if a learner couldn’t understand certain concepts in a particular
subject and continuously performs poorly in that subject, we conduct diagnostic test to know the causes
of the difficulties and accordingly provide them remedial treatment to overcome the difficulties. The key
word in diagnostic evaluation is identifying of ‘learning difficulities”. Diagnostic evaluation not only
solves learning difficulties of learners but also identifies and provides remedies for personal, physical
and psychological problems. This can be exemplified as sometime you may find that few students in
your class are very nervous to come forward and say something, showing fear towards the friends and
teachers because of certain psycho-social disorders and physical disorders.
SubQuestion No : 50
Q.50 The purpose of diagnostic evaluation is to :
(1) Instil fear in a learner
(2) Only identify the 'learning difficulties’
(3) Encourage learners to give up subjects in which they perform poorly.
(4) Not only identify and solve learning difficulties of learners but also identify and provide
remedies for personal, physical and psychological problems faced by the learner.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270149
Option 11D : 512701185
Option 21D : 512701186
Option 31D : 512701187
Option 41D : 512701188
Status : Answered
Chosen Option : 4
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Section : Education

GET ITON
Google Play

Q.51 : :
The main curricular areas as per NCFTE-2009 are :
(A) Curriculum and Pedagogy
(B) Educational technology
(C) Foundation of Education
(D) School internship
(E) Learner assessment
Choose the correct answer from the options given below :
(1) (A), (C) and (D) Only
(2) (B), (C) and (E) Only
(3) (©), (D) and (E) Only
4) (A), (©), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701120
Option 11D : 512701469
Option 2 ID : 512701470
Option 31D : 512701471
Option 4 ID : 512701472
Status : Answered
Chosen Option : 2
Q.52 T-Score of a particular score in a data set is 50. If each score of the data set is multiplied by 10, what
will be the new T-score of that particular score ?
(1) 500
@ 5
@3 50
4 0
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270190
Option 11D : 512701349
Option 21D : 512701350
Option 31D : 512701351
Option 4 ID : 512701352
Status : Answered
Chosen Option : 2
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Q.53 Which of the following web 2.0 tool is most effective for collaborative learning in e-learning platform ?

GET ITON
Google Play

(1) Wiki
(2) Blog
(3) Podcast
(4) Video Conferencing
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270181
Option 11D : 512701313
Option 21D : 512701314
Option 31D : 512701315
Option 4 ID : 512701316
Status : Answered
Chosen Option : 4
Q.54 o ; S ; ;
The term ‘Triadic Reciprocal Causation’ is associated with
(1) Freud Theory
(2) Piaget Theory
(3) Bandura Theory
(4) Erikson Theory
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270180
Option 11D : 512701309
Option 2 ID : 512701310
Option 31D : 512701311
Option 4 ID : 512701312
Status : Answered
Chosen Option: 3
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(A)
B)
©)
(D)

Q.55 Arrange the sequence of direct teacher talk category in Flanders’ Interaction Analysis :

Accepts feeling
Praises or encourages
Asks questions

Using pupils idea

Choose the correct answer from the options given below :

GET ITON
Google Play

M B, (A), (D), ©
2 (A ®).(©) (D)
3 (©.(A). (B) (D)
4@ (D) (A) Q) (B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701101
Option 11D : 512701393
Option 2 ID : 512701394
Option 3 1D : 512701395
Option 4 ID : 512701396
Status : Answered
Chosen Option : 2
Q56 \Which of the following DOES NOT align with the concept of inclusive education ?
(1) Aiming for Mainstreaming
(2) Catering to diverse learning needs
(3) Catering to Plural society
(4) Considering Individual differences
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270170
Option 11D : 512701269
Option 2 ID : 512701270
Option 3 ID : 512701271
Option 4 ID : 512701272
Status : Answered
Chosen Option: 3
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Q.57 The University of Calcutta, Bombay and Madras were established in 1857 on the recommendations
of Wood's despatch in 1854. Who was the viceroy of India, when these were founded ?

GET ITON
Google Play

Chosen Option :

(1) Lord Canning
(2) Lord Dalhousie
(3) Lord Wellesley
(4) Lord Bentick
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270162
Option 11D : 512701237
Option 2 ID : 512701238
Option 31D : 512701239
Option 4 ID : 512701240
Status : Answered
Chosen Option : 2
Q.58 ; ;
Arrange the following as per the competency based curriculum model :
(A) Identification of general competencies
(B) Assessing competencies
(C) Organizing competencies into specific themes
(D) Creating learning experiences
(E) Evaluating the effectiveness of curriculum
Choose the correct answer from the options given below :
(1) (A), (B), (©), (D), (E)
@ (@A), (B), (B), (©), (D)
(3)  (A), (©), (D), (B), (E)
4) (A), (©), (D), (E), (B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270198
Option 11D : 512701381
Option 2 ID : 512701382
Option 31D : 512701383
Option 4 ID : 512701384
Status : Answered

1
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% Match List - I with List - IL
List - 1 List - II

(A) Curriculum as a plan (Iy Crow and Crow
(B) Curriculum as an Experience (I)  B.F. Skinner
(C) Curriculum as a subject matter (IlI) Tyler and Hilda Taba
(D) Curriculum as an objective (IV) Doll
Choose the correct answer from the options given below :
M A)-0), (B)-(IV), (C)-(1), (D)-(IT)
(2 (A1), B)-), ©)-1), (D)-(IV)
(3) (A=), (B)-(D), (C-(1V), (D)-(I)
(4)  (A)-(IV), (B)-(IT), (C)-(III), (D)-~(T)

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
512701132
512701517
512701518
512701519
512701520
Answered
3

by following chronology :

(1) Dharma - Arth - Kama - Moksha
(2) Moksha - Dharma - Arth - Kama
(3) Kama - Arth - Dharma - Moksha
(4)  Arth - Kama - Dharma - Moksha
Options 1. 1

2.2

3.3

4.4

Q60 1 four fold valuation of Indian Culture when arranged in hierarchical order can be represented

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
51270154
512701205
512701206
512701207
512701208
Answered
3
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Q.61

B)

®
@
)
O

©

(D)

Which of the following statements are true about hypothesis ?
(A) A good hypothesis is based on sound reasoning that is consistent with theory or previous

research.

A deductive hypothesis is a generalization based on specific observations.
"Tenth grade biology students who are instructed using interactive multimedia achieve at

higher level than those who receive regular instruction only” is an example of non-directional

hypothesis.

(A) and (B) Only
(B) and (C) Only
(C) and (D) Only
(A) and (D) Only

Qualitative researchers may develop guiding hypothesis for the proposed research.
Choose the correct answer from the options given below :

GET ITON
Google Play

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701124
Option 11D : 512701485
Option 2 ID : 512701486
Option 31D : 512701487
Option 4 ID : 512701488
Status : Answered
Chosen Option : 4
Q62 A National Curricular and Pedagogical Framework for Early Childhood Care and Education
(NCPFECCE) for children up to the age of 8 will be developed by :
(1) D.P.E.P.
(9 N.C.T.E
3 N.CERT
4 S CERT
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270159
Option 11D : 512701225
Option 2 ID: 512701226
Option 31D : 512701227
Option 4 ID : 512701228
Status : Answered
Chosen Option : 2
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Q.63 Put the steps of construction of summated rating attitude scale in a correct order.

(A) Selection of final items
(B) Calculation of item wise critical ratio
(C) Item writing
(D) Administration for final try out
(E) Pre try out
Choose the correct answer from the options given below :
D (B, (©), (D). (B), (A)
@ (©, (E) (B), (D), (A)
3) (A, (D), (B), (O) (B)
@) (©, () (D), (B), (A)

Options 1. 1
2.2
3.3
4.4

GET ITON
Google Play

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
512701107
512701417
512701418
512701419
512701420
Answered
2

instruction. Component activities of the model include :
(A) Facts about social problems

(B) Framework for analysing social issues

(C) Competence in social dialogue

(D) Comfort in expressing opinion

(E) Analysing personal values and behaviour

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

@ (®), (O, (D) and (E) Only

3) (©), (D) and (E) Only

() (A), (B)and (C) Only

Options 1. 1
2.2
3.3
4.4

Q.64 1, Jurisprudential Inquiry model requires a fair amount of teacher directed activity and directed

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
512701117
512701457
512701458
512701459
512701460
Answered

1
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(A) Sargent plan

Arrange the following in chronological order.

(B) Royal Rescript on Education

(C) Hartog Committee Report

(D) Hunter Commission

(E) Stanley’'s Despatch

Choose the correct answer from the options given below :
(1)  (B), () (A), (D). (E)

2 (A), (©), (D), (B) (B)

@) (B), (B), (D), (O), (A)

4 (A) (D), (B), (©) (B)

GET ITON
Google Play

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701100
Option 11D : 512701389
Option 2 ID : 512701390
Option 31D : 512701391
Option 4 ID : 512701392
Status : Answered
Chosen Option: 3
Q66  \atch List - I with List - 1L,
List - I List - II
(A) Organisational Development (I)  Procedure is monitored and improvement effected
by means of statistical technique
(B) Statistical Quality Control (II) Planned change process which is continuous
learning exercise
(C) Statistical Process Control (IIT) Benefit should exceed costs of development
(D) Sustainable Development (IV) Variance from standard measures is tracked
applying statistical and engineering techniques
Choose the correct answer from the options given below :
1) (AL, (B)-(1V), (CO)-(1D), (D)-{1)
2 (A, B)-IV), (C)-(I), (D)I1)
(3) (A, (B)-(1), (CR(IV), (D)-(IN)
#) (A1), B)-@), (CH1V), (D))
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701142
Option 11D : 512701557
Option 2 ID : 512701558
Option 31D : 512701559
Option 4 1D : 512701560
Status : Answered
Chosen Option: 1
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Q.67 Which of the following are TRUE about inclusive education ?
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(A) Ttis a part of a wider strategy to develop an inclusive society.
(B) It acknowledges that not all children can learn in a general class.
(C) It involves restructuring school-cultures.
(D) Diversity is a rich resource to support the learning for all.
(E)  Schools should not be expected to change according to learning needs of all children.
Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(2 (B), (C) and (D) Only
(3)  (B), (D) and (E) Only
(4)  (A), (©) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701119
Option 11D : 512701465
Option 2 ID : 512701466
Option 31D : 512701467
Option 4 1D : 512701468
Status : Answered
Chosen Option : 4
Q.68  {yhich of the following statement is NOT correct about Vygotsky’s Socio-cultural theory of child
development ?
(1)  Child’s cultural development appears twice: First on social level and later on individual level
(2) Human activities take place in cultural settings.
(3) Intra Psychological function comes first then Inter Psychological.
(4) Development is transformation of socially shared activities into internalized process.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270179
Option 11D : 512701305
Option 2 1D : 512701306
Option 3 ID : 512701307
Option 41D : 512701308
Status : Answered
Chosen Option: 3



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal24

7

(A)
®)
©
(D)

@
2

Q.69 Which of the following statements are correct regarding ‘Poka-Yoke ?

The term poka-yoke originated with the Japanese Baka-yoke.
The contact method of poka-yoke identifies defects through physical attributes.
The fixed value method of poka-yoke is used in a process with non-recurring activity.

The motion-step method of poka-yoke determines whether prescribed steps are completed in
order,

Choose the correct answer from the options given below :

(A), (B) and (C) Only
(), (C) and (D) Only
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(3) (C), (D) and (A) Only
(4) (A), (B) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701126
Option 11D : 512701493
Option 2 ID : 512701494
Option 31D : 512701495
Option 4 ID : 512701496
Status : Answered
Chosen Option : 2
Q.70 Which of the following statement is NOT related to Freudian Psychoanalytic Approach ?
(1) Id refers to the raw, unorganised, inherited part of personality
(2) Super ego has two sub parts : Conscience and the Ego-ideal
(3) Ego defence mechanisms have adaptive value
(4) Super ego helps to control ego impulses
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270177
Option 11D : 512701297
Option 2 ID : 512701298
Option 31D : 512701299
Option 4 ID : 512701300
Status : Answered
Chosen Option : 2
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%71 Match List - I with List - IL
List - I List - II
(A) Q Methodology (I) Hartshorne and May (1929)
(B) ‘Guess Who' () Bradley Efron
(C) Student’s distribution (III) Stephenson (1953)
(D) Bootstrap Method (IV) William Sealy Gosset
Choose the correct answer from the options given below :
(1) (A)-(ID, (B)-(LD), (O)-(1V), (D)-(1)
@ (@A), (B, (O-1V), D)-(I)
(3)  (A)-(IV), (B)~(III), (C)ID), (D)-(I)
(@) (A, (B)-IV), (D), (D)-(I)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701141
Option 11D : 512701553
Option 21D : 512701554
Option 31D : 512701555
Option 4 ID : 512701556
Status : Answered
Chosen Option: 3
Q.72 pe National Commission on Teachers (1983) provided criteria for selection of trainees for becoming
teachers. This commission was headed by :
(1) R. N. Chattopadhyaya
(2) D. S Kothari
(3) V.K R V.Rao
(4) D. P. Chattopadhyaya
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270164
Option 11D : 512701245
Option 2 ID : 512701246
Option 31D : 512701247
Option 4 ID : 512701248
Status : Answered
Chosen Option : 1
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a7 Arrange the following according to their licensing and usages flexibility.
(A) Creative Common Share Alike (CC BY-SA)
(B) Public Domain (PD)
(C) Creative Common Non directive (CC BY - ND)
(D) Creative Common by (CC BY)
(E) Creative Common Non-Commercial (CC BY - NC)
Choose the correct answer from the options given below :
(1) (A), (©), (E), (B), (D)
(2 (B), (D) (A), (B) (O
(3 (D), (E), (A), (©) (B)
4 (B, (D), A, (©) (B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270195
Option 11D : 512701369
Option 2 ID : 512701370
Option 31D : 512701371
Option 4 ID : 512701372
Status : Answered
Chosen Option : 2
Q.74 - I : -
Which of the following is NOT a test of Creativity ?
(1) Remote Associate Test
(2) Sharma’s Divergent Production Ability Test
(3) Minnesota Test of Creative Thinking
(4) Guilford Test of Product Improvement
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270178
Option 11D : 512701301
Option 2 ID : 512701302
Option 31D : 512701303
Option 4 ID : 512701304
Status : Answered
Chosen Option: 4
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@7 Match List - I with List - IL
List - I List - II
(A) The Salamanca Statement (I 1992
(B) The Rehabilitation Council of India Act (II) 1995
(C) The Persons with Disabilities Act (II1) 2006
(D) National Policy for Persons with disabilities (IV) 1994
Choose the correct answer from the options given below :
(1) (A)-IV), (B)(1D, (O)-(L), (D)-(I)
2 (A)HIV), (B)-(D), (O)-(I), (D)-(1M)
(B3) (A1, (B)-(), (C)-(IV), (D)-I)
4) (A)-(1D), (B)-(IV), (O)-(I), (D)-(1L)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701136
Option 11D : 512701533
Option 21D : 512701534
Option 31D : 512701535
Option 4 ID : 512701536
Status : Answered
Chosen Option : 2
Q76  Nagch List - I with List - IL
List -1 List - II
(A) Right of Children to Free and Compulsory Education (RTE) Act () 2005
(B) Commission for Protection of Child Rights Act (1) 2009
(C) National Council for Teacher Education (NCTE) Act (1) 1956
(D) University Grant Commission (UGC) Act (IV) 1993
Choose the correct answer from the options given below :
(1) (A, (BRI, (O-(1V), (D)-(II)
2y (A)-(), (B)-(ID), (C)-(1V), (D)-(1)
(3) (A1, (B)-(D), (CO(1V), (D))
(4) (A)AII), (B)-(IV), (C)-(II), (D)-(I)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701138
Option 11D : 512701541
Option 2 ID : 512701542
Option 31D : 512701543
Option 4 ID : 512701544
Status : Answered
Chosen Option: 3
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Q.77 On the recommendation of which of the following committee on transformative reforms in
accreditations, the executive committee of NAAC had proposed launching of reforms in two
phases-Binary Accreditation and Maturity Based Graded Level ?

Dr. D. P. Singh Committee

Dr. Ganesh Kannabiran Committee
Dr. Radhakrishnan Committee

Dr. Subhas Roy Committee

GET ITON
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270187
Option 11D : 512701337
Option 2 1D : 512701338
Option 31D : 512701339
Option 4 ID : 512701340
Status : Answered
Chosen Option: 1
Q.78
The competency based model of curriculum focuses on :
(1) Time spent on acquiring skills
(2) Mastering specific skills
(3) General knowledge skills
(4) General life skills
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270160
Option 11D : 512701229
Option 2 ID : 512701230
Option 3 ID : 512701231
Option 4 ID : 512701232
Status : Answered
Chosen Option : 2
Q.79 Nalanda University was first established during Gupta regime. It was a known centre
of learning.
(1) Jain
(2) Vedic
(3) Buddhist
(4) Samkhya
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270163
Option 11D : 512701241
Option 2 ID : 512701242
Option 31D : 512701243
Option 4 ID : 512701244
Status : Answered
Chosen Option : 3
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Q.80 d , g o , '
The four basic leadership styles identified by Bill Reddin were :
(1) Telling, Selling, Participating and Delegating
(2) Ml, Mz, M3 and ]f'v'l4
(3) DMAIC, DMADV, CTQ, POSDCORB
{4} Related, Integra ted, Dedicated, Separated
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270188
Option 11D : 512701341
Option 2 ID : 512701342
Option 31D : 512701343
Option 4 ID : 512701344
Status : Answered
Chosen Option : 1
Q.81 i 5 F 403 . 2
Etymologically, the term ‘Curriculum’ is derived from the Latin word :
(1) Curricular
(2) Caricature
©)
@)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270157
Option 11D : 512701217
Option 21D : 512701218
Option 31D : 512701219
Option 4 ID : 512701220
Status : Answered
Chosen Option : 4
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List - I
(A) Mental Retardation
(B) Learning disabilities

(C)  Autism spectrum disorder
(D) Attention-deficit-hyperactivity disorder
Choose the correct answer from the options given below :
(1) (A)-(Im), (B)-(1), (C)-(1V), (D)}-(IL)

0
(1)
()
(V)

List - II

Achievement-potential discrepancy
Impulsive behaviour

Intelligence Quotient

Social skills deficit
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@ (M-I, (B)-(), (C-1V), (D)-(LLD)
(@) (M), (B-(IV), (C(D), [D)-(D)
(#)  (AHIV), (B)-(I), (C)-(IT), (D)-(IM)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701137
Option 11D : 512701537
Option 2 ID : 512701538
Option 31D : 512701539
Option 4 ID : 512701540
: Answered
Chosen Option: 1
Q83 patch List - T with List - 11,
List - I List - II
(A) Perceptual Reasoning ()  Similarities, Vocabulary, Information
(B) Working Memory (II) Digit Span, Arithmetic
(C) Processing Speed (IIll) Block Design, Matrix Reasoning, Visual Puzzles
(D) Verbal Comprehension (IV) Symbol Search Coding
Choose the correct answer from the options given below :
(1) (A, B)-a1), (©)-aV), (D)-()
@ (A1), B)-1V), (O-1, (D)-11)
(3) (A, B)-1), (O-I), (D)-aV)
(4) (A, (B)-(ID), ()-aY), (D)-()
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701128
Option 11D : 512701501
Option 2 ID : 512701502
Option 31D : 512701503
Option 4 ID : 512701504
: Answered
Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal24

7

m
2

()

Q.84 gy umi Vivekanand in his famous speech in Chicago, 1893 conceptualised ‘Universal Acceptance’.
Which of the following statement encapstulates his philosophy about religion and human nature :

The ultimate goal of all humanity is to see the divinity in oneself and in others.

All religions are merely path to the same truth, one must transcend religious dogma to realize
the awareness of all.

The true spirituality is renunciation from all worldly affairs.
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(4)  Every human is an embodiment and manifestation of the divine and thus all forms of worship
are equally valid.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270155
Option 11D : 512701209
Option 2 ID : 512701210
Option 31D : 512701211
Option 4 1D : 512701212
Status : Answered
Chosen Option: 1
Q.85 4 per the intent of NEP-2020, All stand alone Teacher Education Institutions (TELs) will be required
to convert to multidisciplinary institutions by the year
(1) 2035
(2) 2030
(3) 2047
(4) 2040
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270175
Option 11D : 512701289
Option 2 ID : 512701290
Option 31D : 512701291
Option 4 ID : 512701292
Status : Answered
Chosen Option : 2
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.86
e Arrange chronologically the programmes/schemes for Education.
(A) Sarva Siksha Abhiyan (SSA)
(B) Operation Blackboard (OB)
(C) District Primary Education Programme (DPEP)
(D) Rashtriya Madhyamik Siksha Abhiyan (RMSA)
(E) Samagra Shiksha Abhiyan
Choose the correct answer from the options given below :
1 (A) (O, (B), (D), (E)
(2 (©. (B), (A), (B), (D)
@) (B), (O) (A), (D), (B)
4) (D), (B), (), (A), (E)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701103
Option 11D : 512701401
Option 2 ID : 512701402
Option 31D : 512701403
Option 4 ID : 512701404
Status : Answered
Chosen Option: 3
Q.87 : g
Which of the following statements are INCORRECT ?
(A) Rehabilitation Council of India Act was passed in 1992.
(B) Persons with Disabilities Act was modified in 2010.
(C) UNCRPD talks about compulsory inclusive education.
(D) National Policy on Disabilities originated from RTE Act 2009.
(E) National Curriculum Framework was prepared in 2005.
Choose the correct answer from the options given below :
(1) (A)and (C) Only
(2) (B) and (D) Only
(3)  (B) and (E) Only
(4) (A) and (B) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701118
Option 11D : 512701461
Option 2 ID : 512701462
Option 31D : 512701463
Option 4 ID : 512701464
Status : Answered
Chosen Option : 2
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Q.88 Keeping in consideration wide range of special education and related services, most schools provide
a continuum of services. Arrange the following in order of increasing severity of disabilities.
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(A) Full-time separate classroom
(B) Regular classroom with supplementary instruction and services
(C) Regular classroom
(D) Special school
(E) Regular classroom and Resource room
Choose the correct answer from the options given below :
(L) (@), (E). (B). (D). (A)
(2 (©.B) E). @A), DO
@ (©), (&), @) ® O
@ (©, D) (E). (B). (A)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701102
Option 11D : 512701397
Option 2 ID : 512701398
Option 31D : 512701399
Option 4 1D : 512701400
Status : Answered
Chosen Option : 2
Q-89 \hich of the following is TRUE about Learning Theories ?
(A) Kurt Lewin was one of the founding father of Gestalt Psychology.
(B)  Albert Bandura described Human Behaviour and learning on the basis of three key concepts
Life spaces, Vector, insight
(C) Kohler’s book related to experiments on chimpanzees was ‘Mentality of Apes’
(D) Skinner opposed the “no stimulus, no response” mechanism in the evolution of behaviour.
(E) A positive reinforcer is any stimulus the removal or withdrawl of which decreases the
likelihood of a particular behaviour.
Choose the correct answer from the options given below :
(1 (A) (©), (D) Only
(2 (B). (D), (B) Only
() (A), (), (E) Only
(4)  (A). (B), (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701108
Option 11D : 512701421
Option 2 ID : 512701422
Option 31D : 512701423
Option 4 ID : 512701424
Status : Answered
Chosen Option: 3



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal24

7

GET ITON
Google Play

Q.90 ‘ ; i F
Write the following steps of sampling procedure in a correct order.
(A) Preparing sampling frame
(B) Applying the sampling technique
(C) Administer the tool
(D) Define the universe to be studied
Choose the correct answer from the options given below :
(1) (A) (D), (B), (©)
2 @) (A) (B), (©)
3) (A) (D), (C), (B)
@) (@) (A) (©) (B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701106
Option 11D : 512701413
Option 2 ID : 512701414
Option 31D : 512701415
Option 4 ID : 512701416
Status : Answered
Chosen Option : 4
@91 Which of the following is NOT true ?
(1) Segregation is integral to special education.
(2) Integrated education provides partial opportunities for participation.
(3) Inclusive education recognises rights but not realises all of them.
(4) Inclusive education is least restrictive.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270169
Option 11D : 512701265
Option 2 ID : 512701266
Option 31D : 512701267
Option 4 1D : 512701268
Status : Answered
Chosen Option: 4
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Q.92 The principles of designing in-service teacher education programmes, as per NCFTE-2009
include :

(A) Content and Pedagogic approach

(B) Educational attainment approach

(C) Structural space approach

(D) Addressing teachers as learners

Choose the correct answer from the options given below :
(1)  (B), (©) and (D) Only

(& (A)and (D) Only

(@) (A) (B), (©) and (D)

(4) (A), (C) and (D) Only
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701121
Option 11D : 512701473
Option 2 ID : 512701474
Option 31D : 512701475
Option 4 ID : 512701476
Status : Answered
Chosen Option: 3
Q.93 According to human capital theory, the main benefit of investing in education is :
(A) Higher wages
(B) Individual Growth
(C) World Ranking of Country
(D) Empowerment of People
(E) Productivity
Choose the correct answer from the options given below :
(1) (B), (C) and (D) Only
(2) (A) and (C) Only
(3)  (B) and (D) Only
(4) (A) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701115
Option 11D : 512701449
Option 2 ID : 512701450
Option 31D : 512701451
Option 4 ID : 512701452
Status : Answered
Chosen Option : 4
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994 Match List - I with List - IL
List - I List - II
(A) Market economy (I)  Government controlled
(B) Service of a Teacher (I)  Functioning of a mechanism
(C) Centrally planned economy (Im) skill
(D) Positive economy (IV) Private Controlled
Choose the correct answer from the options given below :
M (A1), (B)-(I), (©)-(1I), (D)-(1I)
(2 (A, (B)-(III), (C)-(IT), (D)-(IV)
(B)  (A)IV), (B)-(II), (C)-(I), (D)-(ID)
(4)  (A)-(D), (B)-(IV), (C)-(II), (D)~(IIT)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701133
Option 11D : 512701521
Option 2 ID : 512701522
Option 31D : 512701523
Option 41D : 512701524
Status : Answered
Chosen Option: 1
Q.95 Match List - I with List - IL
List - I List - 1I
(A) ADDIE ()  Selecting media
(B) ASSURE (I) Living books, narration and habits
(C) Dick and Carey (IIT) Systematic instructions : step by step framework to assess
training and education material
(D) Mason (IV) Learner analysis and engagement
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(IV), (C)-(D, (D)-(I)
(@ @A), (BRI, (CHIV), (D)-(IL)
(3 (A)-(I0), (B)-(IV), (C)-(II), (D)-(T)
(4 (A)-), (B)-1), (O-(1V), (D)-(11)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701139
Option 11D : 512701545
Option 2 ID : 512701546
Option 31D : 512701547
Option 4 ID : 512701548
Status : Answered
Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal247

GET ITON
Google Play

Q.96 ; e
Match List - I with List - IL.
List - I List - II
(A) Programmed Instruction (I)  Benjamin Bloom
(B) Mastery Learning (I)  B. F. Skinner
(C) Simulation (IlI) Tom Good
(D) Direct Instruction (IV) Carl Smith
Choose the correct answer from the options given below :
(1 (A, (B)-(I), (O-(IL), (D)-(IV)
2 (A)-1D), (B)-(IV), (O)-(D), (D))
(3)  (A)1D), (B)-[I), (OAIV), (D)-(I1)
(4) (A)-I), (B)-(II), (C)-(IV), (D)-(D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701134
Option 11D : 512701525
Option 2 ID : 512701526
Option 3 1D : 512701527
Option 4 ID : 512701528
Status : Answered
Chosen Option: 3
Q97 Which of the following statements are True ?
(A) Alfred Adler disagreed with Freud’s idea that the cause of human emotionality was
‘unconscious conflicts’.
(B) Aaron Beck developed Cognitive Psychotherapy in 1960’s.
(C) Cognitive Behaviour Therapy (CBT) came into usage around early 1950’s.
(D) In ABC Model, ‘C’ represents the resultant emotion or behaviour.
(E) In ABC model, "A’ represents assimilation.
Choose the correct answer from the options given below :
(1) (A), (D), (B) Only
@ (A) (©, (D) Only
(3 (B). (D), (B) Only
4 (A) (B), (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701109
Option 11D : 512701425
Option 2 1D : 512701426
Option 3 ID : 512701427
Option 4 ID : 512701428
Status : Answered
Chosen Option: 4
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% Match List - T with List- IL
List - 1 List - 11
(A) Gramsci () Pragmatism
(B) Charles S. Peirce (II)  Feminism
(C) Jean Francois Lyotard (III) Maxism
(D) Nel Noddings (IV) Post modernism
Choose the correct answer from the options given below :
(1) (A)(IV), (B)-(1I), (O)-(1LL), (D)-(T)
(2) (A)AI), (B)~(I). (O)-(IV), (D)-(II)
()  (A)-(IV), (B)-(ILD), (O)-(ID, (D)-(I)
(4) (A)-(I), (B)-(IV), (C)-(1), (D)-(II)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701131
Option 11D : 512701513
Option 2 ID : 512701514
Option 31D : 512701515
Option 41D : 512701516
: Answered
Chosen Option : 2
Q.99 . o P - gt
A job application ‘Portfolio” is a :
(1) Finished Portfolio
(2) Documentation Portfolio
(3) Progress Portfolio
(4) Working Portfolio
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270165
Option 11D : 512701249
Option 2 ID : 512701250
Option 3 ID : 512701251
Option 4 ID : 512701252
. Answered
Chosen Option: 4
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Q.100 . ! ;
Match List - I with List - IL
List - I List - I1
(A) Maslow (I)  Psychoanalytic Approach
(B) Erickson (II) Humanistic Approach
(C) Sheldon (IlT)  Life Span Approach
(D) Freud (IV) Constitutional Approach
Choose the correct answer from the options given below :
(1) (A, (B)-0), (CHIV), (DI
(2 (A1), (B)-(ID, (O-V), (D)-[0)
(®)  (A)-1), (BHI), (CHI), (D)-1V)
(4) (A)-(ID), (B)-(I1I), (C)-(T), (D)-(IV)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701129
Option 11D : 512701505
Option 2 ID : 512701506
Option 31D : 512701507
Option 4 1D : 512701508
Status : Answered
Chosen Option : 2
Q10T pjagch List - I with List - I1.
List - I List - II
(Approach) (Key question)
(A) Ethnography ()  How do the origins, characteristics and culture of different
societies compare to one another 7
(B) Ethology (I) What is the experience of an activity or concept from these
particular participant’s perspective ?
(C) Ethnomethodology (Ill) How do people make sense of their everyday activities in
order to behave in socially accepted ways ?
(D) Phenomenology (IV) What are the cultural patterns and perspectives of this
group in its natural setting ?
Choose the correct answer from the options given below :
(L) (A1), B)-11), (©)-0), (D)-1V)
(2 (AHLV), (B, (©)-{1), (D)-(1)
(3 (A1), (B)-(D), (CRH(IV), (D)-(I)
@) (A1), (B)-(I), (C)-(LD), (D)-(I)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701140
Option 11D : 512701549
Option 2 ID : 512701550
Option 31D : 512701551
Option 4 ID : 512701552
Status : Answered
Chosen Option : 2
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Q.102 Selection and placement decisions typically involve prediction about future learning based on present
characteristics of the individual. A test that is used for the said purpose is :
(1)  Criterion reference test
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(2) Attitude test
(3) Aptitude test
(4) Frame test
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270167
Option 11D : 512701257
Option 2 1D : 512701258
Option 31D : 512701259
Option 4 ID : 512701260
Status : Answered
Chosen Option: 3
Q.103 Arrange the following steps of Inference as propounded by the Nyay School of Indian Philosophy.
(A) Conclusion
(B) Reason
(C) Proposition
(D) Example
(E)  Application
Choose the correct answer from the options given below :
M (E), (D), (B)., (O (A)
(2 (), (B) (B) (D), (A)
(3 (©, (B), (D), (B), (A)
# (B, () (D), (B). (A)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270196
Option 11D : 512701373
Option 2 ID : 512701374
Option 31D : 512701375
Option 4 ID : 512701376
Status : Answered
Chosen Option: 4
Q.104 [ 1987, N. C. E. R. T. launched the ‘Project on Integrated Education for Disabled (PIED)" in
conjunction with :
(1) UNESCO
(2) WHO
(3) Asian Development Bank (ADB)
(4) UNICEF
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270172
Option 11D : 512701277
Option 2 ID : 512701278
Option 31D : 512701279
Option 4 ID : 512701280
Status : Answered
Chosen Option: 4
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Q.105 y i
Main features of the grass root approach of curriculum change are :
(A) Small scale experiments
(B) Bottom-up approach
(C) Democratic process
(D) Goal-setting by the practitioners
(E) Face to face problem solving
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2 (B), (©) and (D) Only
(3) (A), (C) and (D) Only
(4) (B), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701112
Option 11D : 512701437
Option 2 ID : 512701438
Option 31D : 512701439
Option 4 ID : 512701440
Status : Answered
Chosen Option : 2
Q.106 Which statements define educational finance at the micro and macro levels ?
(A) Macro finance is framed for the needs used of an individual, small industries and small
business units.
(B) Macro finance includes drafting policy, subsidies, multiyear expansion plans.
(C) The main aim of micro finance is to help economy grow and to generate employment.
(D) Macro finance has direct effect on whole economy and indirect effect on the whole population.
(E) Micro finance is an endless activity.
Choose the correct answer from the options given below :
(1)  (A) and (E) Only
(2)  (B) and (D) Only
(3) (B), (©) and (D) Only
(4)  (A). (B) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701114
Option 11D : 512701445
Option 2 ID : 512701446
Option 31D : 512701447
Option 4 ID : 512701448
Status : Answered
Chosen Option: 3
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Q.107 In moenitoring of policy, ensuring policy programmes are completed on schedule and within budget.
In process of policy monitoring, arrange the following steps :

Establish expectations against which the implementer or policy maker monitors the policy

delivery process.

Analysis of cause of deviation from planned policy delivery process.
Observing performance indicators on all parameters.

Taking corrective action in case of deviation from policy delivery process.
Application of resources to the policy delivery process.

Choose the correct answer from the options given below :
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(1) (A (B) ©). (B), (D)
(2) (), (©), (D), (E) (A)
(3) (C), (D), (E), (A). (B)
4) (D), (B), (C) (A) (B)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270199
Option 11D : 512701385
Option 2 ID : 512701386
Option 31D : 512701387
Option 4 ID : 512701388
Status : Answered
Chosen Option : 1
Q.108 - :
Which of the following are features of MOOCs ?
(A) Open access to learning content
(B) Optional certificate
(C) Limited enrolment
(D) Low completion rate
(E) Lack of interactivity
Choose the correct answer from the options given below :
(1) (B), (D), (E) Only
2 (A), (D), (C) Only
(3)  (A), (B), (D) Only
(4) (B), (A), (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701122
Option 11D : 512701477
Option 21D : 512701478
Option 31D : 512701479
Option 4 ID : 512701480
Status : Answered
Chosen Option: 3
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Q.109 : , :
An inclusive curriculum means :
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(1) Separate curriculum for children with disabilities
(2) Omne curriculum for all students
(3) Separate curriculum for children without disabilities
(4) A flexible curriculum
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270171
Option 11D : 512701273
Option 2 ID : 512701274
Option 31D : 512701275
Option 4 ID : 512701276
Status : Answered
Chosen Option : 2
@M% Match List - I with List - IL
List - I List - II
(A) Mastery decisions (I)  Summative
(B) Average 1Q (If) Formative
(C) Evaluation of Capacity (II) Criterion referenced
(D) Guiding future instruction (IV) Norm referenced
Choose the correct answer from the options given below :
(1) (A, (B)-(ILL), (C)(IV), (D)-(II)
(2 (A, (B)-(IV), (O-(D), (D)-(I)
(3) (A)-(ID, (B)-(), (O)-1), (D)-(IV)
(4) (A)-(), (B)-(ID), (C)-(I), (D)-IV)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701135
Option 11D : 512701529
Option 2 ID : 512701530
Option 31D : 512701531
Option 4 ID : 512701532
Status : Answered
Chosen Option: 1
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Q.1m Match examples with Indian methods of knowing Pramana.
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List - I List - IT
(A) Arthapatti (I)  Conchshell is not a bone according to vedas
(B) Abhava (II) A chair is not a table
(C) Upamana (IIT) He does not eat in day time; he is fat. He eats in night
(D) Sabda (IV) This cow is different from domestic cow must be a nilgai
Choose the correct answer from the options given below :
(1) (AHID, (B)-{IV), (C)-(L), (D)-()
(2 (A0, (B)-(L), (C-IV), (D)-(I)
(3)  (AHD, (B}-(ID), (C)-(1V), (D)-(1)
(4 (A)-(), (B)-(ID, (O)-(1V), (D)-[@)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701130
Option 11D : 512701509
Option 21D : 512701510
Option 31D : 512701511
Option 4 ID : 512701512
Status : Answered
Chosen Option : 4
Q.112 7 : . i i
‘QUAN—-QUAL’ represents a mixed method research design which is :
(1) Concurrent Explanatory
(2) Concurrent Exploratory
(3) Sequential Explanatory
(4) Sequential Exploratory
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270192
Option 11D : 512701357
Option 2 ID : 512701358
Option 31D : 512701359
Option 4 ID : 512701360
Status : Answered
Chosen Option : 1



https://applink.adda247.com/d/XhqWf9lSap

Addal2H

7

GET ITON
Google Play

Q113 The first written examination to test spelling achievement of students was used by :
(1) Joseph M. Rice
(2) R. M. Thorndike
(3) Binet-Simon
(4) DubBois
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270166
Option 11D : 512701253
Option 2 ID : 512701254
Option 31D : 512701255
Option 4 ID : 512701256
Status : Answered
Chosen Option : 4
Q.114 Which amongst the following theory affirms that inequality is socially constructed and can be
eradicated ?
(1) Rabonal Choice Theory
(2) Theory of Systems Analysis
(3) Marxism
(4) Conservatism
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270161
Option 11D : 512701233
Option 2 ID : 512701234
Option 31D : 512701235
Option 4 ID : 512701236
Status : Answered
Chosen Option: 3
Q15 prominent feature of Dick and Carey Model that distinguishes it from ADDIE Model is :
(1) Emphasis on evaluation
(2) Clear learner analysis
(3) Inclusion of formative evaluation at each step
(4) Sequential and Linear Design Process
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270184
Option 11D : 512701325
Option 2 ID : 512701326
Option 31D : 512701327
Option 41D : 512701328
Status : Answered
Chosen Option: 3
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Q.116 Which of the following value is enshrined in the preamble of the Constitution ?
(1) Individualism
(2) Progressivism
(3) Cosmopolitianism
(4) Secularism
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270153
Option 11D : 512701201
Option 2 ID : 512701202
Option 31D : 512701203
Option 41D : 512701204
Status : Answered
Chosen Option : 4
Q117 A Teacher uses Socratic method to help students in developing critical thinking skills during a
lesson on global warming. This method best alligns with which theorist’s principle ?
(1) Skinner
(2) Piaget
(3)  Vygotsky
(4) Bruner
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270182
Option 11D : 512701317
Option 21D : 512701318
Option 31D : 512701319
Option 4 ID : 512701320
Status : Answered
Chosen Option : 3
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Q.18 , .
Needs of curriculum development include :
(A) Sports and games
(B) Acquisition of knowledge
(C) Cultural activities
(D) Proper use of time
Choose the correct answer from the options given below :
(1) (A)and (C) Only
(2) (B) and (C) Only
(3) (B) and (D) Only
(4) (A) and (B) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701113
Option 11D : 512701441
Option 2 ID : 512701442
Option 31D : 512701443
Option 4 ID : 512701444
Status : Answered
Chosen Option: 3
M9 Which of the following is NOT a basic principle of curriculum development ?
(1) Principle of Totality
(2) Principle of Leisure
(3) Principle of Maturity
(4) Principle of Flfxibi_lity
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270158
Option 11D : 512701221
Option 21D : 512701222
Option 31D : 512701223
Option 4 ID : 512701224
Status : Answered
Chosen Option : 2
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Q.120

The measurement of human abilities/ personality/ mterest encounters problems in :
(A)
(B)
©)
(D)
(E)

Choose the correct answer from the options given below :

Selecting attributes of variables

Developing Educational devices/Test
Quantifying the attributes

Determining operations to isolate the attributes
Preparing standard scores

(1) (A), (B), (D) and (E) Only
@  (B), (O) (D) and (E) Only
(B) (&), (B), (C) and (D) Only
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(4) (A), (C), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701116
Option 11D : 512701453
Option 2 ID : 512701454
Option 31D : 512701455
Option 4 ID : 512701456
Status : Answered
Chosen Option: 3
Q121 Online Repository for accessing full academic articles and research papers completely free of charge
15 :
(1) Researchgate
(2) JSTOR
(3) PubMed
(4) Google Books
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270183
Option 11D : 512701321
Option 2 ID : 512701322
Option 31D : 512701323
Option 4 ID : 512701324
Status : Answered
Chosen Option : 1
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Q122 The concept of ‘randomness’ is based on which of the following assumption ?

While individual events cannot be predicted with accuracy, aggregate events can.
While aggregate events cannot be predicted with accuracy, individual events can.
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(3)  While individual events cannot be studied with accuracy, aggregate events can.
(4) Sampling errors are not predictable with randomization.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270189
Option 11D : 512701345
Option 2 ID : 512701346
Option 31D : 512701347
Option 4 ID : 512701348
Status : Answered
Chosen Option : 2
Q123 1, 1848, Savitri Bai Phule along with her husband Jyotiba Phule and Fatima Sheikh opened the
first girls” school. The School’s name was :
(1) Zubeida School
(2) Phule Shikshan Mandir
(3) Bal Gandharva Vidyalaya
(4) Pune Vidyapeeth
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270156
Option 11D : 512701213
Option 2 ID : 512701214
Option 31D : 512701215
Option 41D : 512701216
Status : Answered
Chosen Option : 4
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.124 3 i i ' '
Q Which of the following statements are correct about ‘Taylorism’ ?
(A) Itis also known as ‘scientific management’.
B) Initial name for this approach was ‘shop management’
PP P 8
(C) The theory was developed initially within manufacturing industries
(D) It was given by Samuel Taylor
Choose the correct answer from the options given below :
(1)  (A), (B) and (C) Only
(2) (B), (©) and (D) Only
(3) (D) and (B) Only
4) (A), (C) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701127
Option 11D : 512701497
Option 21D : 512701498
Option 31D : 512701499
Option 4 1D : 512701500
Status : Answered
Chosen Option: 4
Q.125 as per the gazette notification of 2021, w.r.t. ITEP, which of the following degree will be the
outcome of the four-year Integrated Teacher Education Programme :
(1) B.A.B.Ed/B.Sc.B.Ed/B.Com.B.Ed
(2) ITEP
(3) BEd
(4) BA.Ed/BSc.Ed/BCom.Ed
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270173
Option 11D : 512701281
Option 2 ID : 512701282
Option 31D : 512701283
Option 4 ID : 512701284
Status : Answered
Chosen Option : 1
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Q.126 o .
Kolb's experiential learning model follows the cycle :
(A) Formation of abstract concepts and generalisation
(B) Students make their own observations
(C) Concrete experience
(D) Testing implications of the concepts in new situations
(E) Reflections
Choose the correct answer from the options given below :
(1 (B), (A), (©), (D) (E)
2 (©, (B), (B). (A), (D)
@) (©), (A), (E), (B), (D)
4) (B), (O) (A), (BE), (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270193
Option 11D : 512701361
Option 21D : 512701362
Option 31D : 512701363
Option 4 ID : 512701364
Status : Answered
Chosen Option : 4
Q.127 Pick the correct statements.
(A) Education is a subject matter of the Central list.
(B) The state of Karnataka has established its own state education policy commission to review
NEP 2020 and to give alternative policy for the state.
(C) The government of India spends six percent of GDP on education.
(D) With multiple entry-multiple exit of NEP 2020 one can drop after two years of MBBS with a
diploma in nursing.
(E) NEP 2020 promotes private participation in education through the philanthropy.
Choose the correct answer from the options given below :
(1) (A). (B), (D) and (E) Only
() (A), (B), (©) and (D) Only
(3) (B) and (E) Only
(4)  (A), () and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701110
Option 11D : 512701429
Option 2 ID : 512701430
Option 31D : 512701431
Option 4 ID : 512701432
Status : Answered
Chosen Option : 4
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Q.128 Unruch and Unruch outlined five steps of curriculum development. Arrange these in proper
sequence.

Content

Evaluation

Goals and Objectives
Implementation
Needs Assessment

Choose the correct answer from the options given below :

©). (B). (A). (D). (B)
©. (A), (B), (D), (B)
(E), (©), (D). (A), (B)
(), (D), (©), (A), (B)
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270197
Option 11D : 512701377
Option 2 1D : 512701378
Option 31D : 512701379
Option 4 1D : 512701380
Status : Answered
Chosen Option: 3
Q129 which of the following statement is NOT correct about PERT ?
(1) PERT was developed primarily to simplify the planning and scheduling of large and complex
rojects.
(2) E\. E{ PERT chart, “Nodes” represent the activities or tasks and ‘Arrows’ represent events or
milestones in the project.
(3) PERT may utilize three ‘time estimates’.
(4) PERT was developed between 1950-60.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270185
Option 11D : 512701329
Option 2 1D : 512701330
Option 31D : 512701331
Option 4 ID : 512701332
Status : Answered
Chosen Option : 2
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Q130 From the given events of instruction of Gagne, Arrange these in a sequence.
(A) Provide Reinforcement
(B) Stimulate Recall of Prior learning
(C) Describe goal and inform the learner of the objectives
(D) Provide guidance for learning
(E) Gain attention
Choose the correct answer from the options given below :
(1 (D) (©), (A), (B), (B)
@ (B, (B) (), (D), (A)
() (D), (BE), (Q), (A), (B)
4) (E), (O), (B), (D), (A)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270194
Option 11D : 512701365
Option 2 ID : 512701366
Option 31D : 512701367
Option 41D : 512701368
Status : Answered
Chosen Option : 4
Q.131 As per NEP-2020, National Educational Technology Forum will have the following functions :
(A) Envision strategic thrust areas in educational technology
(B)  Articulate new directions for research and innovation
(C) Establish a state of art “Technology Centre’ in Gujarat
(D) Provide independent evidence based advice to Centre and state government on technology
based intervention
(E)  Allocate research projects in field of educational technology from 2026.
Choose the correct answer from the options given below :
(L) (A). (), (D). (E) Only
(2  (A). (B), (D) Only
(3)  (B), (D), (E) Only
(4)  (A), (D), (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701123
Option 11D : 512701481
Option 2 ID : 512701482
Option 31D : 512701483
Option 4 ID : 512701484
Status : Answered
Chosen Option : 2
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Q.132 Teachers and counsellors are often interested in using tests to determine their students’ strengths
and weaknesses, the areas where they are doing well and those where they are doing poorly.
Which of the following test can be used for the purpose?

Formative Evaluation
Achievement Evaluation
Summative Evaluation
Criterion Referred Evaluabion
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270168
Option 11D : 512701261
Option 2 ID : 512701262
Option 31D : 512701263
Option 4 ID : 512701264
Status : Answered
Chosen Option: 1
Q.133 ; o £ ; .
According to Jainism, following are required to attain Moksa :
(A) Samyak Darshan
(B) Samyak Drishti
(C) Samyak Jnan
(D) Samyak Charitra
(E) Samyak Sankalp
Choose the correct answer from the options given below :
(1) (A), (©) and (D) Only
(2) (B) and (E) Only
(3) (A), (B) and (C) Only
(4) (©), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701111
Option 11D : 512701433
Option 2 ID : 512701434
Option 31D : 512701435
Option 4 ID : 512701436
Status : Answered
Chosen Option : 2
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Q.134 T )
Arrange the fD]lDwmg in reverse chronological order.
(A) National Commission on Teachers
(B) Kothari Commission
(C) Justice |. S. Verma Committee
(D) National Knowledge Commission
(E) Radhakrishnan Commission
Choose the correct answer from the options given below :
(1) (D). (B), (A), (©) (E)
(2 (A), (B), (©), (B), (D)
(3) (B), (A), (©), (D), (E)
4) (O, (D), (A), (B), (E)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701104
Option 11D : 512701405
Option 2 ID : 512701406
Option 31D : 512701407
Option 4 ID : 512701408
Status : Answered
Chosen Option : 2
Q.135 According to the leader-member exchange theory, the sub-group of Low-quality exchanges is
viewed as :
(1) Out-group
(2) In-group
(3) Advisors
(4) Followers
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270186
Option 11D : 512701333
Option 2 ID : 512701334
Option 31D : 512701335
Option 4 ID : 512701336
Status : Answered
Chosen Option : 1
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Q.136 Put the five stages of the ‘Design for Six Sigma’ in a correct order :
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(A) Design the process at a high level before moving onto a more detailed version.
(B)  Verify that the final iteration of the product or process is approved by all customers and
clients.
(C) Define realistic goals that suit customer requirements.
(D)  Analyse multiple options and alternatives for the customer along with the estimated total life
cycle of the project.
(E) Measure and identify the customer’s critical to quality requirements and translate these into
project goals.
Choose the correct answer from the options given below :
V) (©) (B). (D), (A). (B)
@ ®), ©) (A) D) (B)
@) (© ), @A), 0)®
#  (A). (B), (B), (O, (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701105
Option 11D : 512701409
Option 21D : 512701410
Option 31D : 512701411
Option 41D : 512701412
Status : Answered
Chosen Option : 2
Q137 \hich of the following is NOT correct ?
(1)  Qualitative research often avoid stating hypotheses before data are collected.
(2) A positivist believes that qualities of natural phenomenon must be verified by evidence after
considering them as knowledge.
(3) The quantitative framework in educational research involves the application of the scientific
method to try to answer questions about education.
(4) Quantitative research usually tests a specific hypotheses, qualitative research often does not.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270191
Option 11D : 512701353
Option 2 ID : 512701354
Option 31D : 512701355
Option 4 ID : 512701356
Status : Answered
Chosen Option : 2
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@13 \Which statement(s) out of the following is/are true :

(A) A valid test will also be reliable as well
(B) A reliable test will also be valid always
(C) A wvalid test may be or may not be reliable
(D) A reliable test may be or may not be valid

Choose the correct answer from the options given below :
(1) (A)and (B) Only
(2) (B) and (C) Only
(3) (A) and (D) Only

(E) There is no relation between reliability and validity of a test
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(4) (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 512701125
Option 11D : 512701489
Option 2 ID : 512701490
Option 31D : 512701491
Option 4 ID : 512701492
Status : Answered
Chosen Option: 3
Q.139 As per NEP-2020, School teachers are expected to spent how much time for continuous prufessiuna_l
development 7
(1) 40 hours
(2) 60 hours
(3) 50 hours
(4) 45 hours
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 51270176
Option 11D : 512701293
Option 2 ID : 512701294
Option 31D : 512701295
Option 4 ID : 512701296
Status : Answered
Chosen Option: 3
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Q.140  philosophical Model of Teaching comprising Insight (Plato), Impression (Locke), and Rule (Kant)
was prpounded by :
(1) R.S. Peters
() Paul Hirst
(3) D.W. Hamlyn
(4) Israel Scheffler

Options 1. 1
2.2
3.3
4.4
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
51270174
512701285
512701286
512701287
512701288
Answered
2

Comprehension:

Read the following passage carefully and answer the questions based on it :

When many cultures co-exist in a given geographical area, without one dominating the other, it is
known as “cultural pluralism”. There is a common national culture in India, but at the same time the
various communities have the freedom to maintain and develop their own cultural and religious traditions,
so long as they are not detrimental to the unity and general welfare of the nation. This is cultural pluralism
in the Indian context. Nehru (1946) described the “unity in diversity” within India when he said, “it is
fascinating to find how the Bengalis, the Marathas, the Gujuratis, the Tamils, the Andhras, the Oriyas,
the Assamese, the Canarese, the Malayalis, the Sindhis, the Punjabis, the Pathans, the Kashmiris, the
Rajputs and the great Central block of the Hindusthani speaking people, have retained their peculiar
characteristics for hundreds of years.... have remained distinctively Indian. “Indian Culture is grand
and unique and has fostered other cultures. We can call Gandhi the embodiment of Indian cultural
Heritage. He was the one who highlighted India’s culture and spoke of its characteristics of magnanimity,
flexibility and above all of its synthesis. The history of the country’s culture goes back to the ancient past
or we can certainly line it up at least with the Dravidian era. Later on, many other cultures came in
contact with the Indian Culture and easily merged themselves into it according to the circumstances
and conditions that prevailed in India. In the same context, Gandhiji regarded the homogeneity of the
Indian environment as the basis of this synthesis.

SubQuestion No : 141

.141 o 2 : i . .
Q When the majority culture dominates in a society of multiple cultures, it is :

(1) Cultural pluralism
(2) Communism

(3) Majoritarianism
(4) Sectarianism

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
512701146
512701569
512701570
512701571
512701572
Answered

1
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Comprehension:

Read the following passage carefully and answer the questions based on it :

When many cultures co-exist in a given geug‘raphical area, without one dnm'maling the other, it is
known as “cultural pluralism”. There is a common national culture in India, but at the same time the
various communities have the freedom to maintain and develop their own cultural and religious traditions,
so long as they are not detrimental to the unity and general welfare of the nation. This is cultural pluralism
in the Indian context. Nehru (1946) described the “unity in diversity” within India when he said, “it is
fascinating to find how the Bengalis, the Marathas, the Gujuratis, the Tamils, the Andhras, the Oriyas,
the Assamese, the Canarese, the Malayalis, the Sindhis, the Punjabis, the Pathans, the Kashmiris, the
Rajputs and the great Central block of the Hindusthani speaking people, have retained their peculiar
characteristics for hundreds of years.... have remained distinctively Indian. “Indian Culture is grand
and unique and has fostered other cultures. We can call Gandhi the embodiment of Indian cultural
Heritage. He was the one who highlighted India’s culture and spoke of its characteristics of magnanimity,
flexibility and above all of its synthesis. The history of the country’s culture goes back to the ancient past
or we can certainly line it up at least with the Dravidian era. Later on, many other cultures came in
contact with the Indian Culture and easily merged themselves into it according to the circumstances
and conditions that prevailed in India. In the same context, Gandhiji regarded the homogeneity of the
I[ndian environment as the basis of this synthesis.

SubQuestion No : 142
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Q.142 According to Gandhi ji, which of the following is a characteristic of Indian culture ?
(1) Individuality
(2) Majoritarianism
(3) Magnanimity
(4) Metamorphosis
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
512701148
512701577
512701578
512701579
512701580
Answered
3



https://applink.adda247.com/d/XhqWf9lSap

Ad

dal247

Q.143

Comprehension:

Read the following passage carefully and answer the questions based on it :

When many cultures co-exist in a given gengraphical area, without one dnm'maling the other, it is
known as “cultural pluralism”. There is a common national culture in India, but at the same time the
various communities have the freedom to maintain and develop their own cultural and religious traditions,
so long as they are not detrimental to the unity and general welfare of the nation. This is cultural pluralism
in the Indian context. Nehru (1946) described the “unity in diversity” within India when he said, “it is
fascinating to find how the Bengalis, the Marathas, the Gujuratis, the Tamils, the Andhras, the Oriyas,
the Assamese, the Canarese, the Malayalis, the Sindhis, the Punjabis, the Pathans, the Kashmiris, the
Rajputs and the great Central block of the Hindusthani speaking people, have retained their peculiar
characteristics for hundreds of years.... have remained distinctively Indian. “Indian Culture is grand
and unique and has fostered other cultures. We can call Gandhi the embodiment of Indian cultural
Heritage. He was the one who highlighted India’s culture and spoke of its characteristics of magnanimity,
flexibility and above all of its synthesis. The history of the country’s culture goes back to the ancient past
or we can certainly line it up at least with the Dravidian era. Later on, many other cultures came in
contact with the Indian Culture and easily merged themselves into it according to the circumstances
and conditions that prevailed in India. In the same context, Gandhiji regarded the homogeneity of the
I[ndian environment as the basis of this synthesis.

SubQuestion No : 143

Which of the following is NOT true ?

(1) India has a common national culture

(2) India has a pluralistic culture

(3)  The pathans have retained their peculiar characteristics over time
(4) Majoritarian culture should dominate minority cultures in India
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Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

MCQ
512701144
512701561
512701562
512701563
512701564
Answered
4
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Comprehension:

Read the following passage carefully and answer the questions based on it :

When many cultures co-exist in a given gengraphical area, without one dnm'maling the other, it is
known as “cultural pluralism”. There is a common national culture in India, but at the same time the
various communities have the freedom to maintain and develop their own cultural and religious traditions,
so long as they are not detrimental to the unity and general welfare of the nation. This is cultural pluralism
in the Indian context. Nehru (1946) described the “unity in diversity” within India when he said, “it is
fascinating to find how the Bengalis, the Marathas, the Gujuratis, the Tamils, the Andhras, the Oriyas,
the Assamese, the Canarese, the Malayalis, the Sindhis, the Punjabis, the Pathans, the Kashmiris, the
Rajputs and the great Central block of the Hindusthani speaking people, have retained their peculiar
characteristics for hundreds of years.... have remained distinctively Indian. “Indian Culture is grand
and unique and has fostered other cultures. We can call Gandhi the embodiment of Indian cultural
Heritage. He was the one who highlighted India’s culture and spoke of its characteristics of magnanimity,
flexibility and above all of its synthesis. The history of the country’s culture goes back to the ancient past
or we can certainly line it up at least with the Dravidian era. Later on, many other cultures came in
contact with the Indian Culture and easily merged themselves into it according to the circumstances
and conditions that prevailed in India. In the same context, Gandhiji regarded the homogeneity of the
I[ndian environment as the basis of this synthesis.

SubQuestion No : 144
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.144
@ The embodiment of Indian Cultural heritage is perceived in :
(1) Mahatma Gandhi
(2) Jawahar Lal Nehru
(3) Subhash Chandra Bose
(4) Rabindra Nath Tagore
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
512701147
512701573
512701574
512701575
512701576
Answered

1
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Comprehension:

Read the following passage carefully and answer the questions based on it :

When many cultures co-exist in a given gengraphical area, without one dnm'maling the other, it is
known as “cultural pluralism”. There is a common national culture in India, but at the same time the
various communities have the freedom to maintain and develop their own cultural and religious traditions,
so long as they are not detrimental to the unity and general welfare of the nation. This is cultural pluralism
in the Indian context. Nehru (1946) described the “unity in diversity” within India when he said, “it is
fascinating to find how the Bengalis, the Marathas, the Gujuratis, the Tamils, the Andhras, the Oriyas,
the Assamese, the Canarese, the Malayalis, the Sindhis, the Punjabis, the Pathans, the Kashmiris, the
Rajputs and the great Central block of the Hindusthani speaking people, have retained their peculiar
characteristics for hundreds of years.... have remained distinctively Indian. “Indian Culture is grand
and unique and has fostered other cultures. We can call Gandhi the embodiment of Indian cultural
Heritage. He was the one who highlighted India’s culture and spoke of its characteristics of magnanimity,
flexibility and above all of its synthesis. The history of the country’s culture goes back to the ancient past
or we can certainly line it up at least with the Dravidian era. Later on, many other cultures came in
contact with the Indian Culture and easily merged themselves into it according to the circumstances
and conditions that prevailed in India. In the same context, Gandhiji regarded the homogeneity of the
I[ndian environment as the basis of this synthesis.

SubQuestion No : 145
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Q.145 -
India is land of :
(1) A pervasive dominant culture
(2) Multiple cultures
(3) Individualistic identities
(4) Earliest civilizations
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
512701145
512701565
512701566
512701567
512701568
Answered
2
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Q.146

Comprehension:

Read the following passage carefully and answer the questions based on it :

Althusser argues that no class can hold power for any length of time simply by the use of force.
Ideological control provides a far more effective means of maintaining class rule. If members of the
subject class accept their position as normal, natural and inevitable, and fail to realize the true nature of
their situation, then they will be u_n]ikely tochzﬂlenge ru_h'_ng class dominance. Physica_l force isan inefficient
means of control compared to winning over hearts and minds. The maintenance of class rule largely
depends on the reproduction of ruling class ideology. Thus Althusser argues that ‘the reproduction of
labour power requires not only a reproduction of its skills, but also, at the same time a reproduction of its
submission to the ruling ideology’. This submission is reproduced by a number of ‘Ideological State
Apparatuses’ which include the mass media, the law, religion and education. Ideological State
Apparatuses transmit ruling class ideology thereby creating false class consciousness which largely
maintains the subject class in its subordinate position. In pre-capitalist society, Althusser sees the church
as the dominant ideological state apparatus. In capitalist society it has largely been replaced by the
educational system.

SubQuestion No : 146

Which of the following is NOT an ideological state apparatus ?
(1) Religion
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(2) Media
(3) Education
(4) Class
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 41D :
Status
Chosen Option :

McQ
512701151

: 512701585

512701586

: 512701587

512701588

: Answered

4
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Comprehension:

Read the following passage carefully and answer the questions based on it :

Althusser argues that no class can hold power for any length of time simply by the use of force.
Ideological control provides a far more effective means of maintaining class rule. If members of the
subject class accept their position as normal, natural and inevitable, and fail to realize the true nature of
their situation, then they will be Lm]ikely tochiﬂlenge ru_lj_ng class dominance. Physica_l force isan inefficient
means of control compared to winning over hearts and minds. The maintenance of class rule largely
depends on the reproduction of ruling class ideology. Thus Althusser argues that ‘the reproduction of
labour power requires not only a reproduction of its skills, but also, at the same time a reproduction of its
submission to the ruling ideology’. This submission is reproduced by a number of ‘Ideological State
Apparatuses’ which include the mass media, the law, religion and education. Ideological State
Apparatuses transmit ruling class ideology thereby creating false class consciousness which largely
maintains the subject class in its subordinate position. In pre-capitalist society, Althusser sees the church
as the dominant ideological state apparatus. In capitalist society it has largely been replaced by the
educational system.

SubQuestion No : 147
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Q.147
Subject-members take their position as :
(1) ascribe, ideological and submissive
(2) normal, natural and inevitable
(3) prescribed, predetermined and necessary
(4) given, required and adhered
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status :
Chosen Option :

MCQ

512701153
512701593
512701594
512701595

1 512701596

Answered
2
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Q.148

Comprehension:

Read the following passage carefully and answer the questions based on it :

Althusser argues that no class can hold power for any length of time simply by the use of force.
Ideological control provides a far more effective means of maintaining class rule. If members of the
subject class accept their position as normal, natural and inevitable, and fail to realize the true nature of
their situation, then they will be Lm]ikely tochiﬂlenge ru_lj_ng class dominance. Physica_l force isan inefficient
means of control compared to winning over hearts and minds. The maintenance of class rule largely
depends on the reproduction of ruling class ideology. Thus Althusser argues that ‘the reproduction of
labour power requires not only a reproduction of its skills, but also, at the same time a reproduction of its
submission to the ruling ideology’. This submission is reproduced by a number of ‘Ideological State
Apparatuses’ which include the mass media, the law, religion and education. Ideological State
Apparatuses transmit ruling class ideology thereby creating false class consciousness which largely
maintains the subject class in its subordinate position. In pre-capitalist society, Althusser sees the church
as the dominant ideological state apparatus. In capitalist society it has largely been replaced by the
educational system.

SubQuestion No : 148

Schools :

(1) Reproduce ruling class ideology
(2) Reproduce communities

(3) Reproduce popular culture

(4) Reproduce states control
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Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID
Status :
Chosen Option :

MCQ

512701152
512701589
512701590
512701591

1 512701592

Answered
1
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Comprehension:

Read the following passage carefully and answer the questions based on it :

Althusser argues that no class can hold power for any length of time simply by the use of force.
Ideological control provides a far more effective means of maintaining class rule. If members of the
subject class accept their position as normal, natural and inevitable, and fail to realize the true nature of
their situation, then they will be u_n]ikely tocha]lengﬂ ru_lj_ng class dominance. Physica_l force is an inefficient
means of control compared to winning over hearts and minds. The maintenance of class rule largely
depends on the reproduction of ruling class ideology. Thus Althusser argues that ‘the reproduction of
labour power requires not only a reproduction of its skills, but also, at the same time a reproduction of its
submission to the ruling ideology’. This submission is reproduced by a number of ‘Ideological State
Apparatuses’ which include the mass media, the law, religion and education. Ideological State
Apparatuses transmit ruling class ideology thereby creating false class consciousness which largely
maintains the subject class in its subordinate position. In pre-capitalist society, Althusser sees the church
as the dominant ideological state apparatus. In capitalist society it has largely been replaced by the
educational system.

SubQuestion No : 149
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Q.149
False class consciousness does not make pEDplE 2
(1) accept their position
(2) accept the wnrkjng class idenlugy
(3) accept the insubordination
(4) accept church, media and education
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
512701154
512701597
512701598
512701599
512701600
Answered

1
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Comprehension:

Read the following passage carefully and answer the questions based on it :

Althusser argues that no class can hold power for any length of time simply by the use of force.
Ideological control provides a far more effective means of maintaining class rule. If members of the
subject class accept their position as normal, natural and inevitable, and fail to realize the true nature of
their situation, then they will be Lm]ikely tochiﬂlenge ru_lj_ng class dominance. Physica_l force isan inefficient
means of control compared to winning over hearts and minds. The maintenance of class rule largely
depends on the reproduction of ruling class ideology. Thus Althusser argues that ‘the reproduction of
labour power requires not only a reproduction of its skills, but also, at the same time a reproduction of its
submission to the ruling ideology’. This submission is reproduced by a number of ‘Ideological State
Apparatuses’ which include the mass media, the law, religion and education. Ideological State
Apparatuses transmit ruling class ideology thereby creating false class consciousness which largely
maintains the subject class in its subordinate position. In pre-capitalist society, Althusser sees the church
as the dominant ideological state apparatus. In capitalist society it has largely been replaced by the
educational system.

SubQuestion No : 150
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Q150 For the longest possible duration to hold power, the most efficient is :
(1) Media control
(2) Economic control
(3) Religious control
(4) Ideological control
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
512701150
512701581
512701582
512701583
512701584
Answered
4
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